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lV Semester B.Gom. Examination, July/August 2A24

(NEP Scheme)
COMMERCE

Paper - 4.1 : Advanced Gorporate Aecounting

Time : 2/z Haurs Max. Marks : 60

lnstruction : Answer should be written in English or Kannada.
SECTION _ A

1. Answer any six sub-questions. Each sub-question carries two marks. (6x2=12)
a) What is capital redemption reserve ?

b) Name any two objectives of amalgamation of companies.
c) Who is a contributory ?
d) What is liquidator final statement of account ?
e) What is inflation accounting ?
f) Who is a liquidalor ?
g) State any two differences between Amalgamation and Acquisition.
h) State any two objectives of internat reconstruction.

SECTION - B

Answer any three questions. Each question carries four marks. (3x4=12)
2. Rakshita Company had 10,000,6% redeemable preference shares of t 100

each fully paid. These shares were due for redemption on 31 March 2023 al a
premium of 10%. To carry out redemption, the company issued 2,500 equity
shares of t 100 each at a premium of 7.5"/". The company had a balance of
t 50,000 in securities premium account and { 10,00,000 in Profit and Loss

Account. Pass Journal entries.
3. Pooja Sharma Company agreed to purchase Anand Co. Ltd. and the Co. had

agreed to issue 16,00p equity shares of T 10 each at a premium of 1O%.

1 ,000 8% preference shares of t 100 each at a premium of 10o/o, t 20,000 in
cash.
Calculate Purchase Consideration.

4. Calculate liquidator remuneration and also state the amount paid to unsecured
creditors from the following :

i) Balance of cash after paying preferential creditors { 4,10,000.
ii) Other unsecured creditors { 4,78,000.
iii) Liquidator remuneration is 3% on the amount paid to other unsecured

creditors.
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5. Rahul Limited resorted to internal reconstruction. The scheme is as under
a) 20,000 equity shares of t 10 each fully paid to be converted into 10,000

equity shares of t 5 each fully paid.
b) 1 ,000, 12o/o preterence shares of t 100 each fully paid to be converted into

10,000 equity shares of t 5 each, fully paid.
c) 150, 15% debentures of t 1 ,000 each to be discharged by issue of t 20,000

equity shares of t 5 each fully paid.
d) The amount so available to be appropriated as :

P & L debit balance T 1,00,000 ; Goodwill T 1,00,000 ; Plant and machinery
< 25,000.
Pass necessary Journal entries.

6. Write a note on Cloud based accounting.
SECTION _ C

Answer any three questions. Each question carries twelve marks. (3x12=36)
7. Following, is the Balance Sheet of XYZ Ltd. Co.

40,000 equity Goodwill 4O,0OO
shares of t 10 each 4,00,000 Buildings 82,000

Bank overdraft 61,700 Machinery 2,03,400
Sundry creditors 60,000 Stock 41 ,100

Debtors 60,000
Cash 6,000
P& LA/c 83,200
Preliminary expense 6,000

5 ,21,700 5,21,700
The company adopted the scheme of internal reconstruction.
a) Reduce the present value of equity shares to t 5 each fully paid.
b) The company to issue 26,000 equity shares of.t 5 each fully paid and pay

off bank overdraft.
c) Sundry creditors agreed to forego 20% of claims as the company decided

to pay them*cash immediately.
d) Reconstruction expenses amounted to { 4,000.
e) The director found that the machinery is over valued by t 20,000.
They also decided to write off intangible assets and P & L A/c completely.
Pass Journal entries and prepare reconstructed Balance Sheet.

8. Following is the Balance Sheet of Manoj Company and Bharath Company as
on 31 13122.

Liabilities Manoj Bharath Assets Manoj Bharath
T{tr

Equity share Land and building 2,O0,OOO 3,O0,OOO

cap. (30,000 Plant and
shares) 3,00,000 3,00,000 machinery 3,OO,OOO 2,5O,OOO

-2-
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Reserves and
surplus

12% deb.
Creditors

-3-

Stock
1,00,000 2,00,000 Debtors
2,00,000 2,00,000 cash
1,20,000 1,20,000
7,20,000 8,20,000
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1,50,000 1,50,000
50,000 1,00,000
20,000 20,000

7,20,OOO 8,20,000
Above companies decided to amalgarnate their business and started a new

company named 'Maba' Company" The assets of both companies are - Fixed

assets 25"h mare, stock 15% less and debtors 107o less.
The purchase consideration is discharged by the issue to both companies
sufficient number of equity shares of t 10 each in 'Maba' Ltd. at an agreed value
of t 12.50 per share" Prepare necessary ledger accounts in Manoj Company
and Bharath Company.

9. Balance Sheet of Rahut Company as on 31-3-2020 as under" Prepare Liquidator
final statement of accaunts.
Liabilities Amount Assets

T

50,000 Equity shares
of t 10 each 5,00,000 Plant and machinery

Furniture
lnvestment

2,00,000 Stock
1,00,000 Debtors

Cash
3,00,000 Frofit and Loss A/c

48,000
2,000

tr 1,50,000
Preference dividend are in arrear for one year. Debenture interest is also due for
one year. All outstanding creditors are preferential. The assets realised : Plant
and machinery { 2,80,000 ; Furniture t 400 ; Debtors { 1,50,000 ; The stock and
investments realisep nothing. The expenses of liquidation amounted to T 200.

The liquidator remuneration is 4"h on asset realised and 2o/" on amount paid

to unsecured creditors.
10. Balance Sheet of PKN Ltd. as on 31 -3-23 is as follows :

Liabilities Rupees Assets

2,000, 67" cumulative
preference shares oi
t 100 each

7% debenture
Sundry creditors

Trade
Cash
Outstanding

9,500 preference Land and building
share of t 100 each 9,50,000 Mabhinery

Creditors 50,000 Furniture
Debenture 50,000 Stock

Debtors
Goodwill
P&L A/c

t 0,50,000

Amount
T

4,00,000
1,000

50,00CI
50,000

2,00,000
"1,200

4,47,8CI0

1't,50,000

Hupees
50,000

1,30,000
10,000

1,85,000
90,000

1,00,000
4,85',000

10,50,000
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The company is to be reconstructed as
i) Shares of t 100 to be reduced to an equal no. of fully paid shares of

t 40 each.
ii) To issue 1,000 shares (new) of t 40 each, as fully paid up to the debenture

holders in full settlement.
iii) The amount available is utilised in writing off goodwill and profit and loss

account and the balance in writing down value of machinery.
Prepare Capital Reduction Account and New Balance Sheet.

1 1. The following is the Balance Sheet of XY Co. Ltd.as on 31-3-23.
Liabilities Amount Assets Amount

20,000 8% preference Fixed assets 8,00,000
redeemable share of Investment 2,00,000
t '10 each 2,00,000 Stock 80,000

40,000 7"/" redeemable Debtors 1,20,000
preference share of { i0, Bank 4,00,000
t 5 per share fully paid 2,00,000

40,000 equity share of
t 10 fully paid 4,00,000

Securities premium 1,60,000
General reserve 1,20,000
Capital reserve 1,40,000
Profit and Loss A/c 1,80,000
Current liability 2,00,000

16,00,000 16,00,000
On 1-4-23, the company redeemed both preference shares at a premium of 10%
in order to pay off the preference shareholders. The company issued 50,000
equity shares of t 10 each al5"/" premium.
Pass Journal entries and prepare reconstructed Balance Sheet.
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1. ohdooddo e*$: wd-{,dorl9ri erudoe. dg eruA-d{ri addr erodrl$c. (6x2=12)

a) a:odaa$ adoezSan &Q aodded: ?

b) dod&rl$ Boo3oezgdo$ Cndaaddo add: erudedrl$dl.3e,x.

c) doErioad aodd CD& ?

d) elo8d: aiardd arod aodde& ? ,

e) deadru;3. dp{aodded: z

0 Dirrd ,todd CDdr ?

g) dooloeagd d:dl mdQedda,tudn$r,?do$ dd.:ed Cngaaddo 2 drorBrlgdtr
q^aGgvrc.

h) sodod dderd>reod oh{oaddra 2 erudedrleJdi 8P,x.
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(3x4=12)

2. dt- dod&t 100 d dD$ rieJo$ 10,000 de.6d dcdcaad8icd udrac

ded:rf$$odooOdro, d* ded:rl$So O 91-3-2023 dod: 1O% .!,etuoJ:odooOrl

abcbaad8ie,Jeaofld:dd. 6* d:d:and8od: eruded6a6R dod&oJl t 1 00 d il)$deJo$
2, 500 m d.r J, u e d.: d $dco 7 .5% .!,, e e}: CJ odo c a ri c d o,sJ 3 e dc r & tu d; { d.
d":d:ms3:J: x36?irde)_doiDo$J T 50,000 nrngdq. Fq6 a3,e.;ebode)_t:Q

{ 1 0, 00, 000 --ag tQ *.p - A-s^,r a:odcb{ do c e d;d d.

u3:ee)5 ;5on'-;n !:z;oQ&d doerc mOdcJ:cJ: e^:doUO.

3. {peo ddor doii,oJ:dd.: eJdcd 5:. O. ed) sloea!e.:: u.ldoo&d;aod. 16,000

t 10 d il)riio3c xad>d, ded:d9.i 10% Ae.):oJ:cri 1 ,000, 87o sC,m ded:rl$

dx$ ziej t 100 i;o 10o,6 e,ee)cJ:on ealn t 20,000 drlade_d.lado: &drord:ad.
* c: e e) d .) t d n I o C do o d.: d.ra S;,il il-t 3 5 ii 6 o 6J b A.*a1 i o .

4. * ddnd cddrlgcd oixreQaDo;r i:p:ii5 c:d; eqjd@ x,.e)dod dsdzJeaad
-P^J+J- J^-J-O 6 ^i\cc^ude iJ.J- u - 0gJ@(au.ro.

JO.

i) =,={ d:aOrlori Deeei i:gJ md er:q;3tJd drlil T 4,10,000.,J_iJ

ii) qOC er?i6@ ;;a Odd: < 4,78,000.

iii) OixroaQarori edd uejq,c mOrlori &edzJerad drodd de. 3 di:,
nognddo$d:o eed:$d:.

5. oad;ef O. erodod Q)do" Od>rea{ Odro$cb CoeagdCr: E$dodogd.

a) 20,000 €Bear aadBtd t 10d xad>d, decbrl9dl 1O,dOO t 5d {pear md8srd
7ui il-,r i-,.. j e dJ rlqn A uder e}:i:d)dJ.
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1 ,000, 12% '.ppnr and8rud t 100 aD5{rC ded:rl$ii: 10,000 t 5d dBrar
m6g&c a i>c, ded:rlq;rn z^:denol:i:ddJ.

150, 15% $ear eaC3rud { 1 ,000 d nae-t@,rlerl{ 20,000 t 5d {Bcar aEc3&d

-J-J 

j-r-).))- - --)\Jr\-,Je,calldN, U i(' I )Yc'},o c' t q!q)C"\,,

d) d:e0ddrleod dodoJ:ud:aod doQuoon * E$nddd$q dodd:aadrd)cb.

=qJ trq d{ aadcJ; eroed t 1,00,000, 8e&r ilie-r- T 1,00,000 dlq oJ:cg

5ru: rEdd t 25,000. md.:ef O. {)Edde_Addbc$dl r,rodJo.
n

6. 4d eOaod eJd6 dqd z":{ u:a$ udoi:0.

b)

c)
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olndcndd.o 3 €,d*rlad en:dotu. -'g.3 €,d*ri 12 eodrl$c.

7. XYZ O. 8cil&,cd": e@d dg di d$dcdo8d.

snrJa?laori$) t er,xilsc
Ja

t 10, d 40,000 ::adnd, ded:ilS; 4,00,000 EeBrdlo-

en"odd e::o915 61,700 duid---J - - eJ

xaOrld: 60,000 o$odoreiddaa
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xDeriedd)
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5,21,704

dcd&o3l S SSnd esodDd ddtrtnrro cJloeado$q sq;daldeoad.

a) {t'qd odr.q ded:frsr df,e;r*Qt 5 ddqe$6dr.
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(3x12=3

t
40,000

82,000

2,03,400

41,100

60,000

6,000

83,200

6,000

5,21,700

ubdoecf Cdd ei:Jrl$r

tt
dtdoeags Cdd

{T
xadnd, ded: uodaoeJ

(30,000 ded:itSc) 3,00,000

xadnd, a'Jo})ij &Q 1,00,000

12/" nod$rf$c 2,00,000

dud drd: Srotu 2,OO,O0O 3,OO,OOO
e.j r

3,00,000

2,00,000 oJ:odgffieortl> 3,00,000 2,50,000

2,00,000 croed> 1,50,000 1,50,000
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m sCO- 20% d*iJ* 3- Cie.: u,vr d"oc & d,:sc d.

d) -Oderdnread $e3:r t 4,000.

e) i,aerdd6 oJ:oilge*ddra;ct: T 20,000 6*J d&e-rrxnGd:Qdq
r^*ro o^To. std: cldd. CJagfi grilae?5d eJ&ri#d: '$5": erJzJ-dd a:adrl#d.:OU05-rLo09LJL (:) C;Jc/v,| \71 UorL^Jv \,r q r eJ q.

JJa--.t-.\ 6J-qo 
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B. d:d,oef doi&ci mrto #doo doi&o3.: $ryod *94; D 31-3-2022 doil di

d$dodoEd.

ti6?,roOd$ca
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50,000 1,00,000
20,000 20,000

7,2O,OOA 9,20,000

T

4,00,000
.I,000

50,000

50,000

2,00,000

1,200

4,4"7,900

1'1,50,000
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d.ocC,{.td:C dcgdq.)dab *cffiirgb T 10 d il)sldejc$ :iEdDdr Jed:rlq;b 't);?,D' S. de_

t 12.50 {,3 deodos m#gieifrrddr.
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9. cnd:ef doiDo3: ej+€r 
=9+ i. 31 -3-2020 doC:ds d$dodo8d. &3xr.T-reuaoc$

.c^ g-.J\ 
^-Jqr- :! ?^r\J\ laJ_(q3-gc"IJ cJsJOa6g :-9; -L-r)- 93.-)JiO&.

03Ero8rdod$Jo
50,000 FDdrrdd

ded:rl$c t 10

T qrtud#:
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5,00,000 *e&oeilddrarl#;
2,000, 6% e:d.a ded;d* d"o8ddd;
dl:sjzJd T 100 2,00,000 me&

7"/" ea=ed ms d$d$o 1,00,000 me-rrrcdcb
JJJ.
.J/ )u}j
a-al !-i r-.-P\/eqJ aJ:^i auvi,

EEOild)

e4eaf

CJI I(JJ

z,roE en:9Od:d

3,00,000

48,000

2,000

11,50,000
e3d,a 5:;iil+ ;beO.1m:pcd r,;cd dir zm8 qd. ;en*asg eroeOd:d xa0dd:
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10,000

1,85,000

90,000
1,00,000

4,85,000

10,50,000

udoou:d:d&.
ii) :ne.td$ileri { 40 d il)$de3oJc 1,000 sadnd, ded:rt$dtr erdd fugdo

z$ErtoefDd)d:.
iii) €l oeg eqldaiDd doqddtr SeErdJde.r, aarlo enei d{andoJrq EadrtoeBer)
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1 1. ooood 31-3-2023 dO_ XY do.O. d er6ad dgd * d9dodoBd.

10,50,000
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8,00,000
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20.000 8% erd.ao,^l
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16,00,000

Oanod 1-4-23dod: dod&odr: add: dDdrtoexbd udrao ded:zf$d110% c!,etuo$orl
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doexr aaeDel d:dl dodd cqrd dgdox:dl dodDo&.

4,00,000

1,60,000

d, 1,2o,ooo

1,40,000
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2,OO,0OO

16,00,000


